2 marks)

Question 2; Classify each variable as Continuous or Discrete.

The answer

The variable that records weights of children.

The variable that records heights of people.

The variable that records numbers of cars in cities.

The variable that records numbers of books in libraries.

2 marks)

Question 3: Determine whether of the following statements is True or False.

The answer

100(1 - a)% confidence interval for the population mean u is T + - 39 7”=
n

The interquartile range is the best measure for dispersion.

L'l'wo events A and B of 2" are mutually exclusive if P(AN B) = P(A)- P(B).

- The statistic $? is an estimator for the variance o* of a normal population.

2 marks)

Question 4: Put the right word or symbol in its proper position:

Iy~ Ty Ty~ 2, ANB=2, AUB=0, P(ANB) = P(A)- P(B), P(AU B) = P(A) + P(B),
- = g b_

Two events 4 and B are mutual exclusive if .........ooooveveiiennennn ;
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Then:
a) Complete the following frequency distribution table for the above polygon.

Relative | Ascending
Cumulative

Class
Midpoint | Frequency | prequency Frequency (ACF)

Class Limit | 5 ndaries

Sum

b) Calculate the mean for the data of above frequency distribution table
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b) Calculate the median for the given data.
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3 marks)
Yuestion 8: If [Q, 7, P] is a probability space of rolling a fair die one time, then:

a) Determine 2, s and P for this random experiment.
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(2.5 marks) .
Question 9: If we have Q a space of elementary evens, A and B €29 with P(An ; = 0.1
P (B \ A)=0.35. Then calculate the following probabilities:

8) P(A)= .oooriecieriinieeese sttt st s aa s e s s annns o5 4z <paane

B) P(B)® crveomnsssssummssssssmmssssssssssssossssnssssssisssnsnsesssssnsasia S

& B nsmsnommsnnnssmmes

d) PANB) = oo , s

e) AretheevcmsAandBindependeN?andwhy?
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(4.5 marks)
Question 11: Suppose that Q = {1,2,3,4,5,6}, 5 = 2% and p(A).-.:-;;-!. Now, let X : Q—R be a

-1 foro=12

random variable on the probability space [, f, P| defined by X@)=40 forw=34
P‘l fOf' ® =56

Then:
a) What is the name of this random variable and calculate the probability P(X < 0.5)?

b) Determine the event in the relation: {@ € Q ; X(@) < z} =

¢€) Determine the distribution function F, and draw it.
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3 s | 5|6 |7 ]|81]°9
s | 7|6 | 5|5 3 1=
Represent this data on the scatter plot. :

3 3 3 31115

b) If you know that :z' =50 , i‘y. =59, g:.’ =310 , gy" =409, gz'y. ’ ‘

30,77 =655 and 3z, £)(s,-7) = ~57.2. Then calculate the coeflicient of correlat
-l -l
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Question 13: Assume that a medical researcher

found 125 of them are diabetics. Then
a) Determine 95% confidence interval for the

collected a random
Proportion of diabetic
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(2.5 marks)

Question 14: Suppose we would like to breakfast if the typical amount spent per customer for breakfast at a new

restaurant is more than 10 SR. A sample of 64 customers over a two-week was randomly selected and the average
amount spent was 9.4 SR. Assume that the standard deviation is known to be 1

-8 SR. Then using the significance
level ov = 0.0036 for testing the null hypothesis H,

..................................................................................................................................................
..................................................................................................................................................
..................................................................................................................................................
..................................................................................................................................................
..................................................................................................................................................
..................................................................................................................................................
..................................................................................................................................................
..................................................................................................................................................
..................................................................................................................................................

............................
......................................................................................................................

2 00 01 02 03 o4 05 06 07 08 09
1.0 8413 8438 8461 B4RS 8508 8531 8554 8577 8599 8621
1.1 8643 8665 8686 8708 8729 8749 8770 879 8810 8830
12 8849 8869 B888 8907 8925 8044 8962 8980 8997 9015
13 9032 9049 9066 9082 9099 9115 9131 9147 9162 9177
1.4 9192 9207 9222 9236 9251 9265 9279 929 9306 9319
1.5 9332 9345 9357 9370 9382 9394 9406 9418 9429 9441
1.6 9452 9463 9474 9484 9495 9505 9515 9525 9535 9545
1.7 9554 9564 9573 9582 9591 9599 9608 9616 9625 9633
1.8 9641 9649 9656 9664 9671 9678 9686 9693 9699 9706
1.9 9713 9719 9726 9732 9738 9744 9750 9756 9761 9767
20 9772 9778 9783 9788 9793 9798 9803 9808 9812 9817
21 9821 9826 9830 9834 9838 9842 9846 9850 9854 9857
22 9861 9864 9868 9871 9875 Y878 9881 9884 9887 9890
23 9893 9896 9898 9901 9904 9906 9909 9911 9913 9916
24 9918 9920 922 9925 9927 9929 9931 9932 9934 9936
25 9938 9940 9941 9943 9945 9946 9948 9949 9951 9952
26 9953 9955 9956 9957 9959 9960 9961 9962 9963 9964
27 9965 9966 9967 9968 9969 9970 9971 972 9973 9974
28 9974 9975 9976 9977 9977 9978 9979 979 L9980 9981
29 9981 9982 9982 9983 9984 9984 9985 9985 9986 9986
30 9987 9987 9987 9988 9988 9989 9989 9989 9990 9990
31 9990 9991 9991 9991 9992 9992 9992 9992 9993 9993
32 9993 9993 9994 9994 9994 9994 9994 9995 9995 9995
34 9997 9997 9997 9997 9997 9997 9997 9997 9997 .

End of Exam




